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| HEH| 259| 128] 300| 276/ 119] 104 99| 170 94| 173| 205| 265| 695 140] 355 3,382
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4 & By -2} 112077 172] 103 118] T i26] 123|132 886
bl x 116 154|130 125 119 119 136 899
: 208 326 233] 243] 245| 242] 268 1,785
HEX 56| 103 146 73 84 462
-2} 86| 132 196| 100] 161 675
MR B e 96| 1481 518|101 183 718
§ 182] 278] 411] 205] 314 1,390
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P 2} 14,089
= A = 15,130
: 29,219
SHeE | (65Ut AO] (B) 42164 (&) 6,115A (51) 10331 A [E#EE] (5)299% (%)404% (51)35.4%
i = XERROBEFISNBEANEERTOET [SREI] (HEHEH0 9318 ()47 A () 49N (FH)96 A




